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Guess Paper – 2009

Class – X

Subject – Maths
TIME: 3HRS






MAX.MARKS: 80

GENERAL INSTRUCTIONS:-
1. All questions are compulsory.

2. The question paper consists of thirty questions divided into 4 sections A, B,C and D.  Section A comprises of 10 questions of 01 mark each.  Section B comprises of 05 questions of 02 marks each, Section C comprises of 10 questions of 03 marks each and Section D comprises of 05 questions of 06 marks each.

3. There is no overall choice.  However, internal choice has been provided in one question of Sec: B, three questions of Sec: C and two questions of Sec: D. You have to attempt only one of the alternatives in all such questions.

4. In question on construction, drawing should be neat and exactly as per the given measurements.

5. Use of calculators is not permitted.
SECTION: A

1.  State the Fundamental Theorem of Arithmetic.       

2   Without actually performing the long division, state whether the     

  following will have a terminating decimal expansion or non-      

  terminating repeating decimal expansion 403/8125

3. Find the zeroes of the quadratic polynomial  y2 +43 y+222

4.  Find the quadratic polynomial each with the given numbers as the 

     sum and product of its zeroes are -1/4 , (1/4)

5. Find k for which the quadratic equation kx2 -5x+k=0. has equal 

    roots. 

6. Find 9th term of the sequence defined by nth term = (-1) n-1 n3.
7. Find the sum of the deviations of the variate values 3,4,6,7,8,14 

   from their mean. 

8. The distance between the points P(x,-1) and Q(3,2) is 5 units . Find 

    the values of x.

9. If three consecutive vertices of a parallelogram (1,-2), (3,6) and 

    (5,10).  Find its fourth vertex.

10. Which term of the sequence 114,109, 104 …is the first negative  

     term.?

SECTION: B
11. Check whether 6 n   can end with the digit zero for any positive 
     integer  n.  

12. Show that 3√2 is an irrational number.

13. The sum of n terms of an A.P is 4n2+5 n . Find the A.P.

14. Solve : 99x+101y=499, 101x+99y=501 
(OR)

      08 men and 12 boys can finish a piece of work in 10 days while 06  

     men and 08 boys can finish it in 14 days. Frame the above 
     information as a  system of linear equations in two variables to find 
     the time taken by one man and that  by one boy alone to finish the 
     work.

SECTION:C
16. Find the roots of the equation 
[image: image1.wmf]2

,

2

5

2

2

2

2

±

¹

=

+

-

+

-

+

x

x

x

x

x


17. Find all zeroes of the polynomial x3+3x2-4x-12 if one of the its 
     zeroes is (-3) And verify the relationships between the zeroes and 
     coefficients for the sum of the  product of the zeroes taken two at a 
     time.        

18. Solve graphically:  3x+2y=12 and 5x-2y=4 find the coordinates of 
      the point  where the lines meet the Y-axis.

19. If p th term of an A.P is 1/q and its q th term is 1/p.  Show that 
      the sum of pq terms is (pq+1)/2

(OR)

      If the sum of m terms of an A.P is the same as the sum of its n 
      terms.  Show that sum of its (m +n) terms value of ‘a’.

20. Use Euclid’s Division Algorithm to show that the square of any 
     positive integer is either of the form 3m or 3m+1 for some integer 
     m.

21. Determine the ratio in which the point (-6, a) divides the join of 
      points A (-3,-1) and B (-8,9) also find the 15. Find the point on y 
      axis which is equidistant from the points (2, 3) and (-5,4)

22. If the points A (a, o), B (0,b) C(1,1) are collinear.  Show that   
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(OR)

      Find the co-ordinates of the points of trisection of the line segment 
      joining the Points  (5,-3) and (2,-9).

23. Calculate the mean for the following data.

	C.I
	130-140
	140-150
	150-160
	160-170
	170-180
	180-190
	190-200

	Frequency
	5
	9
	17
	28
	24
	10
	7


24. Find the mode of the following data.

	C.I
	16-20
	21-25
	26-30
	31-35
	36-40
	41-45
	46-50

	Frequency
	11
	32
	51
	49
	27
	6
	4


25. Cards numbered from 36 to 75 are put in a box and mixed 
     thoroughly.  One card is drawn at random.  Find the probability of  

     getting (i) a perfect square  (ii) a number divisible by 2 or 3.

(OR)

   The king, queen and jack of club are removed from a deck of 52  

   playing cards.  One card is selected at random from the remaining 
   cards.   Find the probability of getting (i) a black colour  
   (ii) a  queen (iii) a face card.
SECTION:D
26. If 
[image: image3.wmf]3

2

1

,

,

S

S

S

are the sum of n terms of three arithmetic progressions,       

      the first term of each being 1  and the respective common  

      difference being 1,2,3, prove that S1+S3=2S2.

27. Some students planned a picnic. The budget for food was Rs 500.  

     But 5 students failed to go and thus the cost of food for each 
     member increased by Rs 5. How many students attended the 
     picnic?  
(OR)
      A tank can be filled by one pipe in x minutes and emptied by 
      another pipe in (x+5) minutes , both the pipes when opened 
      together can fill the empty tank in 16.8 minutes, find x

28. On selling a tea set at 5% loss and a lemon set at 15% gain, a 

      Shopkeeper gains Rs 84. However, if he sells the tea set at 5% 
      gain and the lemon set at 10% gain , he gains Rs 104. Find the 
      price of the ea set and that of the lemon set paid by the  

      shopkeeper. .

(OR)
      A part of monthly hostel charges is fixed and the remaining 
      depend on the number of days one has taken food in the mess.  

      When a student A takes food for 20 days , he  has to pay Rs 1,000 
      as hostel charges where as a Student B, who takes food for 26 
      days, pays Rs 1,180 as hostel charges. Find the fixed charge and 
      the cost of food per day.

29. The median of the following data is 525.

	C.I.
	0-100
	100-200
	200-300
	300-400
	400-500
	500-600
	600-700
	700-800

	
	2
	5
	X
	12
	17
	20
	Y
	9


	C.I.
	800-900
	900-1000

	f
	7
	4


30. Find the area of the triangle formed by joining the midpoints of the 

      sides of a triangle whose vertices are (-1, 7), (-5,-3) and (11,5). 
      Also find the ratio of this area to the given triangle. 
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